Bl iR E-F T A

PROFESS IONAL ON HYDRAULI1C-FOCUS ON HIGH QUALITY

Elephant Fluid Power Co. Ltd REHREFHNERAT

Add: Room 1403, Zhonghua Building, Lianmeng St, AN E) A ET AL A 5K B BE BR L K E 1403
Shijiazhuang City, Hebei, China

Landline: +86 (311)68123061 FE]1: +86 (311)68123061

E-mail: elephant@sjzhjsm.com #R#E: elephant@sjzhjsm.com

Fax: +86 (10 )-80115555- 568844 &R +86 (10 )-80115555- 568844

Postcode: 050000 fiB£%: 050000

Web: www.heavyequipmentmaintain.com M4k www.heavyequipmentmaintain.com




About Us

Elephant Fluid Power is located in Shijiazhuang City, Hebei, China. It is a professional manufacturer and
seller of high-end hydraulic components. The company has strong strength and advanced equipment.

Our company has excellent testing equipment, including imported stator and rotor high-precision grinding
machines, double-sided grinding machines from South Korea AM, machining centers produced by Taiwan
Youjia and other companies, and CNC vertical lathes. The company is people-oriented, has gathered a group
of senior technical personnel, has a professional and professional R & D team, and continues to carry out
product design and development. The company currently produces more than 20,000 sets of hydraulic pumps
per year.

The hydraulic Piston pump brands manufactured and sold by the company are: Rexroth, Liebherr, Komatsu,
Hitachi, Kawasaki, Carter, Linde, Hawe, Parker, Kubota, Toshiba, Sauer and other brands and models; and
commonly used walking Motor and swing motor series.

Hydraulic piston pumps can be widely used in engineering machinery, agricultural machinery, road machinery,
mining machinery, medical machinery, metallurgical machinery, ships, machine tools and many other fields.
After years of research and development, the products manufactured by the company can replace imported
original parts and are exported to many countries and regions around the world, which are fully recognized by
customers.

The company adheres to the principle of product quality pursuing perfection, finished product prices tending
to the lowest, and service quality ensuring customer satisfaction. We will serve you wholeheartedly with the
tenet of "using the best products and providing users with the best service"!

KT AN

AEREHIMLEHEFALEGRED, EEUHEMHESHRRETE O KE, 2
BISENER R E R

HERNREMNR, MEHDEFIEFSHEERBEAMABINEE, SEAIESAR
EEHMTHORBIEIRERS. ABUAREK, LRT —HSREARAT BEZLHEL
BB & HRA, A BT T AR &, AR BRI R ER2A ZE.

ARHIE, HENREEERREE TR, FFNE/R. MMa. Bz, )G, 5. #%
2. e KR, ARE. FZ. FREZMESESURERITEDEMEEDERT.

REMAERATZRAETIENM, R, REVR, 8§ LN, Erili. asil
W ARfR. HURSAXZ9E. ARSESENRL, SIEHN~RTEREDREMS, FHOZ
EREPERMBEX, REFFHFESAT,

NAFATRREBEKRTR, REMEETRRE RSREMRFRRAFHERERD. HATEE
HRRFNTR, HARRBRIFNRSARE, BRABRKRS!



TEL:+86(311)68123061 E-mail:elephant@sizhjsm.com www.heavyequipmentmaintain.com FAX:+86(10)-80115555-568844

ELEPHANT FLUID POWER

Elephant Fluid Power

Series of swash plate axial
piston pump

EFP-A4VSO Series

sample

specifications: 40, 71, 125, 180, 250. —
300, 355, 370, 500ml/r

Nominal pressure: P,=35MPa A\ =" )

Peak pressure: P, ,=42MPa

CONTENTS NOTES

Speciﬁcations and features 02 1. For high efficiency work continuously, select hydraulic fluids according to
application conditions. Almost all of the mineral oil is suitable for axial piston unit,
Ordering code 03 which rest with water content, viscosity and temperature, as well as oxidation,
anti-corrosion processing, material compatible, air and water separation etc.
Hydrau”c fluid 06 2. Sufficient & reliable filtration of the hydraulic fluid is necessary for prolonging
the equipment service life. Hard particle in the fluid as standards below:
Installation notes 07 Grade 9 —— NAS1638
Grade 6 —— SAE
Input power and flow 08 Grade 18/15 - ISO/DIS4406
If the fluid temperature is high, the min. cleanness as standard below:
Technical data 1 Grade 8 —- NAS1638
Grade 5 —— SAE
Summary of controls 12 Grade 17/14 — ISO/DIS4406
3. In order to select the correct fluid, it is necessary to know the operating
Size specifications 17 temperature in the tank (open circuit), in relation to the ambient temperature.
4. Important: The leakage oil (case drain oil) temperature is influence by
Installation dimension drawings 20 pressure and pump speed and is always higher than the tank temperature. However,
atno point in the circuit may the temperature exceed 90° C.
Through drive 27 In serious working ambient high or low p ire), if eis
unavailable, contact Elephant Fluid Power before ordering.
Permissible mass moment of inertia 28 5. Pump fluid inlet pressure (absolute pressure) must be = 0.08MPa, fluid
discharging pressure (max. pressure permitted in the case) is 0.4MPa (absolute
Complete shaft drive size 29 pressure), pressure inside the case must be bigger or equal with exterior
pressure on the bearing seal.
AdeSt pump 43 6. Location: usually, the hydraulic pump, motor and case upper edg are lower than
the lowest level in the tank. If the installation is higher than the fluid level,inform Elephant
Displacement 43 Fluid Power before ordering.
7. Shaft coupler installation: sink the pump shaft coupler in the hot oil with
Sale and inventory 43 temperature <90 C about 40 minutes, assemble the shaft and the coupler and
cool it with cooling water rapidly, fasten the screw at last. Never knock the
pump and coupler assembling & hoisting 44 principal axis in assembling; never hoist or transport the oil pump via the
principal axis.

Refer to back cover and hoist photo for details.
Technical information mentioned here is for reference only. Please contact

Elephant Fluid Power if needed. m



Elehant Fu Power ELEPHANT FLUID POWER TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP-A4VSO

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Specifications and features of EFP-A4VSO pump Ordering code

1. Specification

, - _ lerp [-[ [aavs] Jo[ [ [/l [ [-T T T 1]1]]
Series 1, 2 and 3; Nominal pressure 35MPa; Peak pressure 42
MPa.
1.Hydralic fluid/Version
2. Features

2.Axial Piston Unit

@ The variable displacement axial piston pump type EFP-A4VSO
3. Boost pump(Impeller)

in swashplate design is designed for open circuit hydrostatic 4.Type of operation

drives. 5.Size

4 The flow is proportional to the input drive speed and 6.Control devices
displacement. By adjusting the swashplate it is possible to 7.Series

infinitely vary the flow. 8.Direction of rotation
@ Good suction characteristics 9.Seals

10.Shaftend
4 Permissible nominal operating pressure up to 350MPa atten

. . . 11.Mounting flange
@ Low noise level, long service life unting 9

12.The oil inlet position
@ Drive shaft capable of absorbing axial and radial loads P
13.Through shaft drive

@ Modular design, good power/weight ratio

@ Short control time v =available A=inpreparation A=notavailable

@ Through drive and pump combinations possible 1. Hydraulic fluid/Version

4 Swash plate angle indicator . .
Specification 40| 71|125|180|250(300{355|370|500

4 Optional mounting position

@ Operation on HF fluids under reduced operational parameters Mineral oil (no code) VIVIVIVIVIVIVIV]A

possible HF hydraulic fluid (special fluids for
skydrol excluded) VIVIVIVIVIVIVIV]A E

Sliding boots I; High speed version A|A|A|VI|VIVI|V]|A]|H
The shell Pluger
u Q 2. Axial piston unit
The spindle Swash plate design, variable, for industrial applications ‘A4VS‘

\ © T\ 0
i 3. Boost pump (Impeller)
t" I — [

© © 4. Type of operation

Rotating seal = Pump, open circuit ‘ o ‘

Plate S
The rotor The base

— B I Specification 40| 71 |125[180|250|300|355|370|500

5. Size

Displnce ment Vgmax(ml/r) 40| 71|125/180(250{300(355(370(500




ELEPHANT FLUID POWER

Elephant Fluid Power

6. Control devices

Specification 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
Pressure control DR |V | V |V |V |V |V |V |V
Flow control FR| V |V |V |V |V |V |V ]|V
Power control with
hyperbolic curve LR |V v vV vV 4 v 4 v A
Manual control MA | V |V |V |V |V |V ]|V |V
Electric motor control EM A A A A A A A A
Hydraulic control, position
dependent HW A A A A A A A A A
Hydraulic control, flow
dependent HM | vV | V |V | V| V|V |V |V A
Hydraulic control, with
servo/proportional valve Hs@)| v v v v v v % % A
Electronic control EO | V vV vV vV vV \V vV \V A
Hydraulic control pilot
pressure dependent 712 & A & A A A A A 4
Electro-hydraulic
control sysetm DFE1Z| vV | V | V | V | V | V | V A A
7. Series
Specification 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
Series 10 VoV A A | A A A A A
Series 22 A A vV vV vV vV vV vV A
Series 30 A A Vv vV vV Vv vV vV A
8.Direction of rotation
clockwise R
Viewed on shaft end
counterclockwise L
9.Seals
Nitrile rubber NBR(to DIN 1SO 1629) P
Fluorine India rubber FPM (to DIN I1SO 1629) \
10. Shaft end
Flat key shaft to DIN 6885 P
Splined shaft to DIN 5480 z

v =available A=inpreparation A=notavailable

\I/\E/I\_A;.Jrliea(\?;elc){ﬁ?plmz 2(n)fr$aimain.com FEA|>n< ;ngy?gfn?ggf }?Jimseci%M E F P_A 4VSO
11. Mounting flange
Specification 40 | 71 [125|180(250(300|355|370(500|
ISO4-hole VIVIVIVIVIVIVIV| A
1SO8-hole A|A|A|A|A|[AA[AA
12.0il inlet B and S position
40 | 71 (125[{180(250{300|355|370|500
Connections B and S: SAE on side 90° offset, metric fixing screws VIVIVIVIVIVIVIVIAL 138
Connections B and S: SAE on side 90° offset, metric fixing
screws 2nd pressure connection B1 opposite B-when VIVIVIVIVIVIVIVIAL 25
delivered blanked off with a flange
13.Through shaft drive
Without auxiliary pump, without through drive |\/|\/|\/|\/|\/|\/|\/|\/| Al NOO
With through drive to mount an axial piston unit, gear or radial piston pump
Flange Hub/Shaft To mount
1SO 125, 4-hole | Splined shaft 32x2x14x9g A4VSO/G 40 VIVIVIVIVIVIVIV]A]KS
ISO 140, 4-hole | Splined shaft 40x2x18x9g A4VSO/G 71 AVIVIVIVIVIVIV]A|KS
1SO 160, 4-hole Splined shaft 50x2x24x9g A4VSO/G 125 AlA |V IVIVIVIVIV|A| K4
1SO 160, 4-hole Splined shaft 50x2x24x9g A4VSO/G 180 Al AA|V/|VIVIVIV]A|KHA
I1SO 224, 4-hole Splined shaft 60x2x28x9g A4VSO/G 250 Al A|A|A[V|VIVIV|A|KS
1SO 224, 4-hole Splined shaft 70x3x22x9g A4VSO/G 355 Al A|A | A|A|A|VI|VIA|IKT
1SO 315, 8-hole Splined shaft 80x3x25x9g A4VSO/G 500 A|A|A|A|A|A A A A|KB
1SO 80, 2-hole Splined shaft 3/4" 19-4 (SAEA-B)| A10VSO 18 Al AVIVIVIA|IA|A|A|KB
1SO 100, 2-hole Splined shaft 7/8" 22-4 (SAE B)| A10VSO 28 VIVIVIVIVIVIVIV]A| KBS
ISO 100, 2-hole | Splined shaft 1" 25-4 (SAE B-B) | A10VSO 45 A|AIVIVIVIV|IA|A|A| KB
I1SO 125, 2-hole Splined shaft 1 1/4" 32-4 (SAEC) | A10VSO 71 A|A|VIVIVIVIA|A|A|KBS
ISO 125, 2-hole Splined shaft 11/2" 38-4 (SAE C-C) | A10VSO 100 AlA|VIVIVIV|A|A|A|KB
I1SO 180, 4-hole Splined shaft 1 3/4" 44-4 (SAED) | A10VSO 140 AlA|A|A|VIVIVI]IA|A|KB?
82-2 (SAEA, 2-hole) | Splined shaft5/8" 16-4 (SAEA)| G2/GC2/GC3-1X VIVIVIVIVIVIVIV]A] Kot
82-2 (SAEA, 2-hole) | Splined shaft 3/4" 19-4 (SAEA-B) | A10VSO 18 VIVIVIVIVIVIVIV]A| K2
101-2 (SAE B, 2-hole)| Splined shaft 7/8" (SAE B) G3 VIVIVIVIVIVIVIV]A| K2
101-2 (SAE B) Splined shaft 25-4 (SAEB-B) | GC4-1X,A10V045 | A | A [V |V [V [V |V [V | A | KO4
127-2 (SAE C) Splined shaft 32-4 (SAE C) A10VO 71 A|A|VIVIVI|A|A|A|A| K7
101-2 (SAE B) Splined shaft 32-4 (SAE C) GC5-1X A|A |V |VIV|A|A|A|A|KE
127-2 (SAE C) Splined shaft 38-4 (SAE C-C) | GCB-1X,A10VO 100 | A | A [V [V |V |A |A| A | A | K24
152-4 (SAE D) Splined shaft 44-4 (SAE D) A10VO 140 A|lA|AVIVIA|IA|A|A|KI7
@ 63, metric 4-hole Keyed shaft @25 R4 VIVIVIVIVIAIA|A]A]|KE?
101-2 (SAE B) Splined shaft 22-4(SAE B) G4,A10V0 28 VIVIVIVIVIVIV|A|A|Kes
With through drive shaft, without hub, without adapter flange, with coverplate\/ VIVIVIVIVIVIV]A| K9

V=available A=inpreparation A=notavailable



Elephant Fluid Power

ELEPHANT FLUID POWER

Hydraulic fluid

1.Notes on the selection of hydraulic fluid

In order to select the correct fluid, it is necessary to know the operating temperature in the tank

(open circuit), in relation to the ambient temperature.

The hydraulic fluid should be selected so that within the operating temperature range, the
operating viscosity lies within the optimum range (vo), see shaded section in the selection diagram.

We recommend that the higher viscosity grade is selected in each case.

Example: At an ambient temperature of X°C, the operating temperature in the tank is 60°C.
Within the operating viscosity range (v o; shaded area), this corresponds to viscosity range VG46 or

VG 68. VG 68 should be selected.
2.Selection diagram

-20 0 20 40 60 80 100
1000 = 1000
600
400
L . L
— 200 X
&
1S 100
80
g 60
>
> £
x 40; £—36
7 3 E
S 3 E B
o 203 — 7
> 155 —16
in ~—F
i ™~
10— ‘ S0
-20 -10 10 30 5 7 90
[ = Temperature tcc
tmin=—25°C Fluid temperatuer range tmax= + 90

Important: The leakage oil (case drain oil) temperature is influenced by pressure and
pump speed and is always higher than the tank temperature. However, at no point in the
circuit may the temperature exceed 90°C.

3.0perating viscosity range

In order to obtain optimum efficiency and service life, we recommend that the operating
viscosity (at operating temperature) be selected in the range
V,,= optimized viscosity 16~36mm?/s[referred to tank temperature(open circuit)]

4. Limit of viscosity range
For short periods at max. permissible leakage oil temperature 90° C.
V.,.=10mm’s, t, =-25°C, t,. =+90°C

For short periods on cold start : V,,,=1000mm?®/s

5. Filtration of the hydraulic fluid(Axial piston unit)

In order to ensure correct functioning of the axial piston unit, a minimum cleanliness class
of: 9to NAS 1638 18/15 or ISO/DIS 4406.

6. Bearing flushing
For the following operating conditions bearing flushing is required for a safe, continuous
operation:
(1) Applications with special fluids (non-mineral oils), due to limited lubricity and narrow
operating temperature range
(2) Operation at critical conditions of temperature and viscosity with mineral oil
(3) Flushingis recommended with vertical mounting (drive shaft facing upwards), in order to
ensure lubrication of the front bearing and shaft seal.

TEL:+86(311)68123061 FAX:+86(10)-80115555-568844
www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com EFP'A4VSO

Flushing is carried out via port "U", which is located in the front flange area of the variable
displacement pump. The flushing oil flows through the front bearing and leaves the system together with
the pump leakage oil at the drain port.

7. The following flows are recommended for flushing

Size 40 71 125 180 250 300 355 370 500

QsoS L/min 3 4 5 7 10 13 15 15 20

For the given flushing flows there will be a pressure difference of approx. 2 bar (series 1 and 2)
and approx. 3 bar (series 3) between port "U" (including screwed fitting) and the leakage chamber.

8. Notes regarding series 30

When using external bearing flushing the throttle screw at port U, must be turned in to the end
stop.

Installation notes

1. Vertical installation (shaft end pointing upwards)

With a vertical installation, bearing flushing is Befilung
recommended to provide lubrication for the front bearing. T
The following installation conditions are to be taken
RIL

into account:
1.1 Installation in a tank

a) When the minimum fluid level is the same as or is
above the pump flange area : ports “R/L”. “T”and “S”are
open (see fig. 1).

b) If the minimum fluid level is below the pump flange area : ports “R/L”,“T” and possibly “S” have to
be piped as shown in fig. 2. The conditions stated in point 1.2 apply.
1.2 Installation outside atank

Before installation, fill the pump housing with the pump in a horizontal position. Port “T” to the tank,
“R/L” are plugged. Filling possibilites in the installed condition: fill via “R” bleed via “T”, afterwards plug
port “R”.

Conditions: Aminimum pump inlet pressure (suction pressure) of 0.8 bar abs. must be observed.
Avoid mounting the pump above the tank if low noise operation is required.

Fig.1 Fig.2

2. Horizontal installation

The highest situated of the ports “T”,“K1”, “K2” or “R/L” must be utilised for filling/bleeding and subsequently
used as the drain connection.

2.1 Installation in a tank

a) When the minimum fluid level is the same as or lies above the upper edge of the pump then:
drain port and port “S” are open (see fig. 3)

b) When the minimum fluid level lies under the pump upper edge then: drain port and possibly
port “S”has to be piped, see fig. 4. Conditions as shown in point 1.2. Fill pump housing before
commissioning.

2.2 Installation outside a tank

Fill the pump housing before commissioning.
a) Forinstallation above a tank see fig. 4. Conditions as shown in point 1.2.
b) For installation under the tank, pipe drain port and port“S”, see fig. 5.

HiIE
-

Sk -t | h,.=800

h,,,=200




R ath
Elephant Fluid Power

E LE P HANT F LU I D POWE R TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP_A4VSO

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Input power and flow Input power and flow

(operating fluid: hydraulic oil ISO VG 46 DIN 51519, t = 50°C)
Input power and flow

(operating fluid: hydraulic oil ISO VG 46 DIN 51519, t = 50°C) Overall effic n a4, p Volumetric efici N = q,
verall efficiency: = — = olumetric efficiency: = —
q,- P q " Pymax 600 ‘' q
v _ Qv max vtheor
Overall efficiency: r]' = 7600 Volumetric efficiency: r]v = 7(:] Nominal size 250 Nominal size 355
qv max vtheor 700 350
500 250
Nominal size 40 Nominal size 125 ? ?
i = ? 600 300 o
150 75 ? 300 150 $ E 400 200 2 = E
¢ s g 5 E S w0l 1T E
= X e = 500 AT T=250 &
- - HDZED: 5 o0 e £ S 3
c 100 =50 o € 2004+ = 100 & T Pavmax o H e g
£ & Pama [[| & 3 1 tini s I SN 20 s i =
= B H ~ Povmex || 5 I3 400 Poy max 4200 2
- 0= 3 > Lo a 200 100 = — c
== G e e | o - -
5 50 F % 3 T 100 rd L Hso 3 z ol e AN
z R 7 EE 2 . -
a” quzeo | | || c zero 1| =
or AN = L [Paczore - 100 50 800 4 180
ENN NN EREAAS === ZENENEEE NN R A Pay oo
o FEET T 0 === I T 0 2 L 7
0 100 200 300 350 0 100 200 300 350 o === —==1 17 === o 200 Z 100
Operating pressure p [bar] —— Operating pressure p [bar] — 0 100 200 300 350
Operating pressure p [bar] —
n=2600r/min—— n=1800r/min—— P ) 9P p [bar] 100 Py zer0 TT°
n=1500r/min— — — n=1500r/min— — — n=1 500r/mm_ _ Z .
n=1000r/min e
o L= o
o 100 200 300 350
Nominal size 300 Operating pressure p [bar] —
Nominal size 71 Nominal size 180 600 00 n=1500r/min
n=1000r/min— — —
150 T == 1%° 400 20 | } }
q, < = 500 250 o
t ! ! 2 £ 2
— = - L1 av] = £ - x
£ 100 [T T 100 = E = o 2 N o | 5
£ o < 800 S 150 g z 4001 g 200 =
= Py max o = FELTAY [ z ) Qv g
¢ z T T a w -
2 ] 2 S p 1 =
3 - e o Z = qumax V[ 3
w50 = 50 5 - 200 qumaxT 100 E‘ 300 e 2 L
=L Poyzeo 2 ]
= - ST —‘-H—‘t—' GEY 12 200 100
100 200 300 350 100 50
v quzsm
Operating pressure p [bar] —= / } 1% I — 100 Pavsoro T 111 50
) e = kA .
n=2200r/min——— %% 100 200 300 359 A = n=1500r/min
n=1500r/min— — — ) = i 1 n=1000r/min— — —
/ Operating pressure p [bar]— 00 100 200 300 358
n=1800r/min——— Operating pressure p [bar] —

n=1500r/min— — —



A e!! R

Elephant Fluid Power

Input power and flow

ELEPHANT FLUID POWER

(operating fluid: hydraulic oil ISO VG 46 DIN 51519, t = 50°C)

q,-p
Overall efficiency: N, =
t -600
Qv max
Nominal size 500
? 800 400
<
£
<
= 700 350
2
k) T
[ T =
600 dv 300
/|
/7
500 e ey 250
7
400 200
] qu max —
300 ! 150
200 100
4 I —
100 Pﬂ’f"’ 1750
/
oFE= T 0
0 100 200 300 350

Operating pressure p [bar] —

n=1320r/min
n=1000r/min~ ~

Input power P (kW) —=

Flow (L/min) —=

— qv
Volumetric efficiency: r]v = qi
vtheor
Nominal size 750
1100 550
/
1000 / 500
/
/
900 == / 450
,‘\\\f i
EEY '
800 — / 400
EELLT 1 I
SEETA]
700 11350
/
/
600 / 300
AR
500 / 250
/
400 / P v max 1200
/ P
7
/
300 / 150
17
/
200 100
/ P
! av zere
100 { 50
/;,/
/ I s i e il
oFETT 0
0 100 200 300 350
Operating pressure p [bar] —
n=1200r/min
n=1000r/min~ — T

Input power P (kW)—=

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

Technical data(valid for operation with mineral oil)

1. Operating pressure range -
inlet side

Absolute pressure at port S . 122

(suction inlet) g 1,6
wemn ———————— 0.8 bar LIy 1

Pasmax — 30 bar . 1,2

2. Operating pressure range - S 1,0 1,0

outlet side &

Pressure at port B 0.9 0,8

Nominal pressure Pn 35MPa

Peak pressure Pmax 42MPa 05 0.6 0.7 0.8 0.9 10

3. Flow direction: S to B. A

Determination of inlet pressure p,,, at Displacement  —; —

suction port S, or reduction of
displacement when increasing drive
speed, the inlet pressure is the static feed
pressure or the minimum dynamic value
of the boost pressure.

4. Case drain pressure
The permissible case drain pressure (housing pressure) is dependent on the drive speed

(see diagram). Nominal size

/

N

o

1000 2000 3000 4000
—

Case drain pressure Plabs [bart—9

Speedn

The case maximum drain pressure (pump housing pressure) Pmax is 4bar. Under certain operating
conditions a reduction in these values may be necessary.

5.Table of values

Size 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
Displacement Vg max cm’ | 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
Rotating speed Mo max r/min | 2600 | 2200 | 1800 | 1800 | 1500 | 1500 | 1500 | 1500 | 1320
Max. rotating speed | Momaxza. | r/min | 3200 | 2700 | 2200 | 2100 | 1800 | 1700 | 1700 | 1700 | 1600

Flow Ne 1500vmin | L/min | 60 107 | 186 | 270 | 375 | 450 | 532 | 555 | 750
Power Ne. 15000min | kKW 35 62 109 | 158 | 219 | 262 | 311 | 324 | 437
Torque Ngmax Nm 64 113 | 199 | 286 | 398 | 478 | 564 | 588 | 795
Weight kg 39 53 88 102 | 184 | 184 | 207 | 207 | 320
Max. axial force N 600 | 800 | 1000 | 1400 |1800 | 2000 | 2000 | 2000 | 2000
Max. radial force N 1000 | 1200 | 1600 | 2000 | 2000 | 2200 | 2200 | 2200 | 2500

Vg < Vg max

EFP-A4VSO

Inlet pressure pabs [bar]



ELEPHANT FLUID POWER

Elephant Fluid Power

Summary of controls

1. Pressure control DR

Regulates max. pressurein a
hydraulic system
Setting range 2 - 35 MPa

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

4. Pressure and flow control DFR

This control maintains a constant flow
from the pump even under varying
operating conditions (flow). Overriding
this control is a mechanically
adjustable pressure control.

Q

B

EFP-A4VSO

not in scope of supply

Optional:
Remote control (DRG)

|
—~ |
EoSu S T

S Ms K1 K2 TRWL

2. Pressure control for parallel operation DP

=
Suitable for pressure control with LJLu r not in scope of supply
multiple axial piston pumps EFP-A4VSO »xMst
parallel operation. —
Optional: .
Flow control (DPF)
| LY
i
=
K S ?
0 sMs 1 R
3. Flow control FR
. . . B not in scope of supply
Maintains a constant flow in a - . . iy

hydraulic system (flow)

Optional:

Remote pressure control (FRG),
Orifice in X port plugged (FR1, FRG1)

M
7l
B
s
e e I

Q B1 MB

0 s Ms K1K2 TRWL

Optional:
Orifice in X port plugged (DFR1)

a0 ATy
B1 MB I
¥ ki
[ 1
: it
it
T5
é VTLS K)LW KJ(Z %RY(L)

5. Power control LR2 with hyperbolic curve

The hyperbolic power control maintains a
constant preset drive power at the same

input speed.

Optional:

Pressure control (LR2D);

Remote control (LR2G); Q

Flow control (LR2F, LR2S);

Hydraulic stroke limiter (LR2H);

Mechanical stroke limiter (LR2M);

Hydraulic two-point control (LR2Z);

With electrical unloading valve to assist

during start-up (LR2Y). p

The hyperbolic power control maintains a
constant preset drive power. The power
characteristic curve is remotely adjustable.
Optional:

Pressure control (LR3D);

Remote control (LR3G); Q

Flow control (LR3F, LR3S);
Hydraulic stroke limiter (LR3H);
Mechanical stroke limiter (LR3M);

Hydraulic two-point control (LR32Z);
Electrical unloading valve to assist during p
start-up (LR3Y)




Elephant Fluid Power

:+86(311)6812306 :+86(10)-80. -5688:
ELEPHANT FLU | D POWER \I/\E/I\_N.Jrheafv;;éuiplmentr#aimain.com FEﬁ)n:;I:elgph)amggfﬁjims.coé4 EFP_A4VSO

It shows working position;
P is under the pressure.

7. Hydraulic control LR2N 10. Hydraulic control HW position dependent
pilot pressure dependent,initial position Vgmin Stepless flow adjustment (displacement) to
With overriding power control the sine. B.of the angular position of the pivot.
; B . . Optional:
The flow (displacement) is proportional to - .
the pilot pressure in Pst. The additional With hyperbolic power control (HWP) B
hyperbolic power control overrides the pilot |
pressure signal and holds the preset drive
power constant.
Optional: )
Pressure control (LR2DN), remote control Y]
(LR2GN); gmax
Power control characteristic, remotely
adjustable (LR3N, LR3DN, LR3GN)
Q Vg
5y ngax ool
i R
P, p 11. Hydraulic control HD pilot pressure dependent
Stepless flow adjustment of the pump
(displacement) in relation to the pilot
pressure.
8. Manual control MA The adjustmentis proportional to the applied ~ V, H
ilot .
Stepless flow adjustment by means gp(:iopr:zls:sure ngax
ofahandwheel ) Pilot pressure characteristic curves (HD1,
v B:1 B Ms HD2, HD3) 4
] Pressure control(HD.B), remote control Ps:
gmax | (HD.GB)
| Power control (HD1P)
s ‘ Electrical pilot pressure control (HD1T)
S
max e oy o e S _
S Ms K; K2 T R(L)
. 12. Hydraulic flow control HM 1/2/3 pilot control flow dependent
9. Electrical motor control EM
X2 X1
. . The pump flow (displacement) is infinitely — - :
Stepless flow adjustment via an 3 adjustable in relation to the pilot oil flow at
el_ectrlc motor. vV ports X1 and X2.
With a programmed sequence a Application: — 2-point control
control, various intermediate Vg”-.;.x - basic control device for servo or
displacements can be selected by proportional control
means of built-on limit switches or -
a potentiometer. s

max

0 5 Ms K1K2 TRW




E LE P HANT F LU I D POWE R TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP_A4VSO

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Elephant Fluid Power

13. Control system HS,HS4,with servo or proportional valve Dimensions

The stepless displacement control

is accomplis hed by means of servo

or proportional valve with electrical

feedback of the swivel angle.

The HS4P-control system is fitted 4
with a built on pressure transducer
so that it can be utilized for
electrical pressure and power
control. -

Key(J)
DIN 6885

—

(W)

+ Puo

max

§ll

I
Optional: L0 N\N\—
Servo valve(HS);
Proporfional valve(HS4);
Short circuit o
valve(HSK,HS4K,HS4KP);
Without valves(HSE,HS4E).
For oil-immersed use(HS4M)

Kz

7
N f °

14. Hydraulic flow control EO1/2

Pilot valve mounting position for
clockwise direction of rotation

(2nd high pressure connection on version 25)

The stepless adjustment of the
displacementis accomplished by
means of a proportional valve with
electrical feedback of the swivel
angle.

Electronically controlled
Optional: gmax
Short circuit valve (EO1K, EO2K)

Without valves (EO1E, EO2E)

Splined shaft mu

DIN 5480

< <

fi
(On version 25)

C‘C

max

fa |
fb(g6)
fd
3
£ (e
,_[{ @
&
=N
@
- N
‘ fe
th

ol of the variable pump
KD-A4VSO...DFE1Zis |
accompli U | |

FA FB

. : i Pilot valve mounting position for
15. Electro-hydraulic control system DFE1Z | % bt : A anti-clockwise direction of rotation

The power,pressure and swivel
angle control of the variable pump
EFP-A4VSO...DFE1Z is

accompli shed by means an
electrically controlled proportional
valve. Acurrent signal to the
proportional valve moves the
control piston and determines via
an integrated positional transducer
the cradle's swivel angle and thus
the pump flow. When the electric
drive motor is switched off and the
system is pressureless, the bias
spring in the control chamber will
swivel the pump to
max.displacement(Vgmax).

)
[}

s B
SAE SAE

XA X1ideep LYA[\Y: deep

View X View Y




Elephant Fluid Power

ELEPHANT FLUID POWER

1.Table of unit dimensions nominal size

Sizez| A|C | D|E|F |G|H|I Jkey) | L[ N|O|P|W]|JC| Z
40 (269 [227| 90 |52| 58 |10 | 8 | 22| 10X8X56 |1.5| 56 [160|18 |258| 10 | 150
71 [298 [254|101|61| 70 |10 | 8 |22 | 12X8X68 |1.5| 68 {180 |19 |296| 12 [ 170
125 (355 (310|125|70| 82 |10 | 8 |36 | 14X9X80 |1.5| 80 [200|22 |358| 14 | 200
180 (379 [318|125|70| 82 |10 | 8 |36 | 14X9X80 |1.5| 80 [200|22 |358| 14 | 200
250 (435 (380|150 |90 |105|10| 8 |42 | 18X11X100 | 2 | 100 |280 | 30 |427| 18 | 265
300 |468 393|150 |90 105 |10 | 8 |42 | 20X12X100 | 4 | 100 |280 | 30 |427 | 20 | 265
355 |468 |393|150 |90 |105 |10 | 8 | 42 | 20X12X100 | 4 | 100 |280 | 30 |427 | 20 | 265
370 |468 |393 150 |90 [105 |10 | 8 | 42 | 20X12X100 | 4 | 100 |280 | 30 |427 | 20 | 265
500 |520 | 441|155 |80 |130 |47 |16 | 42 | 22X14X125 |3.5| 125 |450 | 32 |510| 22 | 380
2.Table of unit dimensions nominal size
Size a b d e j [m| n r t fa fb fd fe fg.fh
40 91 [140|M10|232k6 | 82.5 (15| 85 |150| 35 | 79 |[2125|M10|*30(40)| 80
71 | 106 |157 [M12 | 240k6|92.5 15| 97 [170| 43 | 92 |2140 (M12| 46 92.5
125 |120.5/191|M16 | 250k6 [117.5|20 [114.5|200(53.5| 112 |2160 [M16| 50 112.5
180 [120.5/191|M16 | 250k6 [117.5|20(114.5/200(53.5| 112 | 2160 [M16| 50 112.5
250 | 151 |238|M20 |260m5| 144 |26 (114.5|265| 64 | 144 | 2224 |M20| 55 144
300 | 151 |238|M20|270m6| 144 |26(114.5|265|74.5| 144 | 2224 |M20| 55 148
355 | 151 |238|M20|270m6| 144 |26|114.5|265|74.5| 144 | 2224 |M20| 55 148
370 | 151 |238|M20|270m6| 144 |26 (114.5|265|74.5| 144 | 2224 |M20| 55 148
500 | 190 (283 |M20|280m6| 200 |26| 190 |380| 85 | 189 |#315|M20| 50 182
3.Table of unit dimensions nominal size
Size FA FB FC FD FE
40 144 25(0)* 25 36 22
71 166 0 27 45 41
125 203 14 33 54 36
180 203 14 33 54 36
250 246 17 40 70 42
300 246 17 40 82 42
355 246 17 40 82 42
370 246 17 40 82 42
500 279 50 16 90 42

Notes: *Datain brackets correspond to LR2

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

4.Table of unit dimensions nominal size

EFP-A4VSO

size | XA | XB | XC X1 | suctionport | YA | YB | YC | Y1 Prossurs por
40 [ 357 | 68.9 | 40 | M12X28 11/2" | 23.8 | 50.8 | 20.5| M10x20 3/4"
71 | 429 | 77.8 50 M12X28 2" 27.8 | 57.2| 25 M12X28 1"
125 | 50.8 | 88.9 63 M12X28 21/2" 31.8 | 66.7 | 31 M14X28 11/4"
180 | 61.9 | 106.4 | 75 M16X30 3" 31.8 | 66.7 | 31 M14X26 11/4"
250 | 619 |106.4 | 75 M16X30 3" 36.5 | 79.4 | 40 M16X30 11/2”
300 | 77.8 | 130.2 | 100 | M16X30 4" 36.5 | 79.4 | 40 M16X30 11/2”
355 | 77.8 |130.2 | 100 | M16X30 4" 36.5 | 79.4| 40 M16X30 11/2"
370 | 77.8 | 130.2 | 100 M16X30 4" 36.5|79.4| 40 M16X30 11/2"
500 | 92.1 |152.4 | 125 M16X30 5" 445 | 96.8 | 50 M20X25 2"
5.Table of unit dimensions nominal size
Size Flusai:.lI%zport Oil drain T |M,.M, Test points ?-"aw:)ilneged Fd‘z:m'g')g e Te:n|:1;;'t\:i2r|ts
40 | M22x1.5(D)14 | M22X1.5(D)14 | M14X1.5(D)12 M22X1.5 M14X1.5(D)12 —
71 | M27X2(D)16 | M27X2(D)16 M14X1.5(D)12 M27X2 M14X1.5(D)12 | M14X1.5
125 | M33X2(D)18 | M33X2(D)18 M14X1.5(D)12 M33X2 M14X1.5(D)12 | M14X1.5
180 | M33X2(D)18 | M33X2(D)18 M14X1.5(D)12 M33X2 M14X1.5(D)12 | M14X1.5
250 | M42X2(D)20 | M42X2(D)20 M14X1.5(D)12 M42X2 M14X1.5(D)12 | M18X1.5
300 | M42X2(D)20 | M42X2(D)20 M14X1.5(D)12 M42X2 M18X1.5(D)12 | M18X1.5
355 | M42x2(D)20 | M42X2(D)20 M14X1.5(D)12 M42X2 M18X1.5(D)12 | M18X1.5
370 | M42x2(D)20 | M42X2(D)20 M14X1.5(D)12 M42X2 M18X1.5(D)12 | M18X1.5
500 | M48X2(D)22 | M48X2(D)22 M18X1.5(D)22 M48X2 M18X1.5(D)12 | M18X1.5

Series of swash plate axial piston pump




ELEPHANT FLUID POWER

TEL:+86(311)68123061

FAX:+86(10)-80115555-568844
www.heavyequipmentmaintain.com

E-mail:elephant@sjzhjsm.com

Elephant Fluid Power

EFP-A4VSO

EFP-A4VS040 installation dimensions EFP-A4VSO71 installation dimensions

Unit dimensions nominal size 40, series 1

Unit dimensions nominal size 71, series 1
(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(258) (296)
L =
—+
g|  Key10x8x56 | 7 10h9 o\\;r g Key 12X8X68
%
1.5_\_56 50 K 3 Ks 1.5\ 68
g S E 3| 5
§5=p (D [ ]| &= ;3 N —
[ L2z AL
_ © fl e e‘ 28
° & O} <D g = ¥
@\ ﬂ o N 1 E /@ ]
g |
sl I/ _s2 W | M 150 = <
o X sl 1l e Me 170
58 90 100
227 70 101
254
Splined shaft mu B1
W 32x2x14x9g ‘ Tl /' (2nd high pressure connection on version 25) Splined shaft []L] B1
T _ W40X2X18X9g T "T" /" (2nd high pressure connection on version 25)
4 & | I
ol & o] s @
D B 4 o~
o E | ® 2 v o8 s
e o s ol o 5|2 ) [c]
rgs - © ° 52 ’ | ® .
T [z | B N % &l @) g < 8
R 7 @) e g 3= S\ J °
= M12x28 < %1 N Q. ,\
R(L dl ﬁ 35.7 & 45 @) A o -
H | J ° l_;__g M12Xx28
U | __L| | View X R(L) :'J Iﬁ
3 Y ‘ i ‘ View X
25 u o
144 25 UU v
269 27|
166
298
B Pressure port SAE 3/4" (high pressure range) B Pressure port SAE 1" (high pressure range)
B1 Auxiliary port M22x1.5; deep 14 (plugged) B B1 Auxiliary port M27x2; deep 16 (plugged)
5 S Suction port SAE 1 %"(standard series) S Suction port SAE 2"(standard series)
° Ki,K2 Flushing ports M22x1.5;deep 14(plugged) ; 9 KI,K2 Flushing ports M27x2; deep 16(plugged)
) ; T Oil drain M22x1.5;deep 14(plugged) T Qil drain M27x2; deep 16(plugged)
Me,Ms  Test points M14x1.5;deep 12(plugged) l27.8) \m12x28 MB,MS Test points M14x1.5; deep 12(plugged)
5.8 \ M10%20 R(L) Oilfilling + airbleed M22x1.5 ViewY R(L) Qil filling + air bleed M27x2
U Flushing port M14x1.5 ;deep 12(plugged) U Flushing port M14x1.5; deep 12(plugged)
View Y



))&

Elephant Fluid Power

ELEPHANT FLU I D POWER TEL:+86(311)68123061 FAX:+86(10)-80115555-568844

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com EFP'A4VSO

EFP-A4VSO0125 installation dimensions EFP-A4VS0180 installation dimensions

Unitdimensions nominal size 125, series 2 and 3

Unit dimensions nominal size 180, series 2 and 3
(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(358)
(358)
/—‘=ﬁ_
Y— = 22 [0 =
—F
> Key 14X9X80 [
5| Key14X9X80 | ]\ . e ((/[ 1‘1'9\\\ —i
7 14h9 N\ 1.5 80 o\
1.5 80 Bl (cXKo) s
@, ® © (_\ Kz % Ki
: = /% . RESE © R i
e
,uoj T T m[ f o — J :‘ §
slg 2 g o ol 3] o e 2
R i 9 s = | ~ “
g o . L a - s
S =
® ¥ i = _._L_>_ \ | © ~ ﬂ -
ﬂ | sl /10 [ \Ms —
00 X 200
200 82 125
318
. Splined shaft B1
Splined shaft B1
W50X2 X24X9 . . .
W50X2X24X9g ‘ mm 'T‘ (2nd high pressure connection on version 25) 9 ‘ mu Tl / (2nd high pressure connection on version 25)
|l A : S
) g 0|8
w| c N
ol 2 o] s cle o,
© | A M2 @ - § @ ‘-g’ g | %’ | 0|
: i
_ §’ E’ oA f@\ o 219 —S s P
: L) - JE : | . -
o ° 36 | ©luol o 36 ] ©
g 5 G = N ﬁ_ = 54 d
- 50.8 | \M12X28 -
RWLT i :h_m S ‘ 61.9 | \M16X30
| View X
u | | | y View X
o~
.33 | .33 |
203 1 203 14
355 379
) B B Pressure port SAE 1 1/4" (high pressure range)
B Pressure port SAE 1 1/4" (high pressure range) B1 Auxiliary port M33x2; deep 18(plugged)
B1 Augxiliary port M33x2; deep 18(plugged . '
B : yp X g “eep (p uggé ) ; 5 S Suction port SAE 3" (standard series)
S Suction port SAE 2 %"(standard series) © | o KiKa Flushing ports M33x2; deep 16(plugged)
~ EI vaz Flushing ports mzzxj jeep 12“’:“9993) T Oil drain M33x2; deep 16(plugged)
8% Ol drain x2; deep 18(plugged) 31.8] \ M14X26 Ms,Ms  Testpoints M14x1.5; deep 12(plugged)
\@ Ms,Ms Test points x;;‘X;ﬁv deep 12(plugged) R(L)  Oilfilling +airbleed M33x2
R(L il filli i X ;
a8 \ M14x28 L Oilfilling + air bleed View Y U Flushing port M14x1.5; deep 12(plugged)
v Flushing port M14x1.5 ; deep 12(plugged) Mi. M2 Test points for M14x1.5 (plugged)
View Y M1, M2 Test points for M14x1.5 (plugged)

adjustment pressure
adjustment pressure



A2l
Elephant Fluid Power

ELEPHANT FLUID POWER

EFP-A4VS0250 installation dimensions

Unit dimensions nominal size 250, series 3
(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(427)

265

144.5

(2nd high pressure connection on version 25)

8l Key 18X11X100
(31 ~
2 100
. ® 0 K
,g .Tr——r\
3 — B\JJ
©
o g [a2] eJL°)
e} = 3
| N
s T o0 wf |\
100 X
105 150
380
Splined shaft mu B1
WB0X2 X28X9g ‘ 'T'l
iak
\ T e
<&
M2 %
98 | © <
F3 Lo} () < g
§ &Y L s #
42
2| 5 B0l
R(L M1r lﬁ
u | t] __l_,l Y
Y
40 |
246 17
435
B B Pressure port
B1 Auxiliary port
Yo
g 3 S Suction port
Ki, K2 Flushing ports
. M16X30 T Oil drain
Ms,Ms  Test points
R(L) Qil filling + air bleed
View Y u Flushing port
M1, M2 Test points for

adjustment pressure

S
Q| 0
2
<
°
o
m_g M16X30
View X

SAE 1 %" (high pressure range)
M42x2; deep 20(plugged)

SAE 3" (standard series)
M42x2; deep 20(plugged)
M42x2; deep 20(plugged)
M14x1.5; deep 12(plugged)
M42x2

M14x1.5; deep 12(plugged)
M18x1.5 (plugged)

TEL:+86(311)68123061

www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

EFP-A4VSO

EFP-A4VS0300/355/370 installation dinfensions

Unit dimensions nominal size 300/355/370, series 2and 3
(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

(427)
—
; i
Ms /I 3 ]\ h
7 N N
z, | ©
Kz Dl Ki
,,\i,, A ,‘{’l,, - ,]£8
< N
3 =7 =
3 T o
i e oy
I 3
| O J
Ms | g‘ B
265
B1
Type 25 second

high pressure oil

(Type of 25)
130.2
$100

& Key20X12X100
4_\_100
© ()
LEl O - d
N EP U
= §fa2l Q9
5 S
N
8] |
10 ] X
105
Splined shaft
W70x3x22x9g : m T|
|
s n
i
|
i
|
< |
S =l
s seec) | I .
P
42 ]
3 82
u
44
246 17
468

79.4

M16X30

View Y

B1

KI,K2

MB,MS
R(L)

M1, M2

Pressure port
Auxiliary port
Suction port
Flushing ports

Oil drain

Test points
Oilfilling + air bleed
Flushing port

Test points for

adjustment pressure

SAE 1 %" (high pressure range)
M42x2; deep 20(plugged)
SAE 4" (standard series)
M42x2; deep 20(plugged)
M42x2; deep 20(plugged)
M14x1.5; deep 12(plugged)
M42x2

M18x1.5 ; deep 12(plugged)
M18x1.5 (plugged)



Elephant Fluid Power

ELEPHANT FLUID POWER

EFP-A4VSO500 installation dimensions

Unit dimensions nominal size 500, series 3
(Example:pressure control; for exact dimensions of the control devices see separate data sheets)

283

190

(510

=}
32
=
u &) QO ©) —3
Key 22X14X125 ] %05 22h) :
a5\ 125 (| K1
. © 0 e (O (?/ﬁ
g @- |0 - 1 ¢
@® QO
“H L ©_9O &
= g M | 9 O O ol
130 | S|
1 | 225{ §
= Q [
[[16 :_&_ )L e
180 |47 155 380

(2nd high pressure connection on version 25)

Pressure port
Auxiliary port
Suction port

16
Splined shaft u B1
W80x3x25x9g 0 M2
I I |
k g
<
o ol Hel ] o
ol ——L—— ®
=
89 (L) fa\\ &
3 \N2) g
o 420\ ~__V_—\@\ N g
i AT
m | - |
140 279 50
520
B
B
® o B1
g o s
Ki,K2 Flushing ports
144.5] \M20x25 T Oildrain

Me,Ms  Test points
R(L) Qil filling + air bleed

U

Flushing port

Mi. M2 Test points for

152.4
6125

Y
M1 Thread for eye bolts
M16 DIN580

adjustment pressure

Py

92.1 | \M16X24

View X

SAE 2" (high pressure range)
M48x2; deep 22(plugged)
SAE 5"(standard series)
M48x2; deep 22(plugged)
M48x2; deep 22(plugged)
M18x1.5; deep12(plugged)
M48x2

M18x1.5 ; deep 12(plugged)
M18x1.5 (plugged)

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

EFP-A4VSO

Through drive

The axial piston unit EFP-A4VSO can be supplied with a through drive, as shown in the ordering
det-ails on page 5.

We recommend that only up to a maximum of three individual pumps be coupled in tandem.

The scope of supply are:

Coupling, fixing screws, seals and, where applicable, an adaptor flange.

Combination pumps

For pump installation, independent circuit is available.

1. If the combination cosists of 2 EFP-A4VSO pumps and if this is to be factory fitted, both pump
codes should be quoted, joined by "+ ".

Ordering example:
EFP-A4VS0O125DR/30R-PPB13K33+ EFP-A4VSO71DR/10R-PZB13N00

2.1f a gear or radial piston pump is to be fitted in the factory as the 2™ pump, please consult us.
When projecting a combination pump using the same size pumps (e.g. 125 + 125) together
with a control device HD.P, HD.T, and HD.U please consult us.

Permissible through drive torque

L 2 7, L
J L

~ ~

\
\4

~

Tl:n T;z T) T

Splined shaft

Nominal size 40 71 | 125 | 180 | 250 | 300 | 355 | 370 | 500
Pump 1+Pump 2| T oo ma Nm | 446 | 790 | 1392|2004 | 2782 | 3338 | 3952 | 4116 | 5566
. a0 || Mg e Nm 223 | 395 | 696 | 1002 | 1391 | 1669 | 1976 | 2058 | 2783
Toe max Nm | 223 | 395 | 696 | 1002 | 1391 1669 | 1976 | 2058 | 2783
» PTEtID || T Nm 223 | 395 | 696 | 1002 | 1391 | 1669 | 1976 | 2058 | 2783
Toz max Nm | 223 | 395 | 696 | 1002 | 1391 | 1669 | 1976 | 2058 | 2783

drive torque

drive torque

Keyed shaft

Nominal size 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500
total max Nm 380 700 | 1392 | 1400 | 2300 | 3006 | 3557 | 3707 | 5200
D1 max Nm 223 395 | 696 | 1002 | 1391 | 1670 | 1976 | 2060 | 2783
D2 max Nm 157 305 | 696 | 398 | 909 | 1336 | 1581 | 1647 | 2417
D1 max Nm 1567 305 | 696 | 398 | 909 | 1336 | 1581 | 1647 | 2417
02 max Nm 223 395 | 696 | 1002 | 1391 | 1670 | 1976 | 2060 | 2783

—

Pump 1 +Pump 2

Permissible
through

1

drive torque

Permissible
through

—| | |

drive torque




ELEPHANT FLU I D POWER TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP'A4VSO

Elephant Fluid Power www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Permissible mass moment of inertia Unit dimensions of combination pumps

EFP-A4VSO + EFP-A4VSO

mm m: © o G
- — — 3 o) o )
- @< @
] T “Nl;—lﬁ_ —f
N~ —
| Al A2 A3
1
A4
2
m1, mz[ kg] Weight of pump
I1, l2lmm] Distance center of gravity
1 1. -
To=m,*l;* 153 +m.*l,* 755 [Nm] Mainpump | A4VSO 40 A4VSO 71 A4VSO 125 A4VSO 180 A4VSO 250
2nd pump A1 Az Az AA A1 Az A:c AA A1 Az Aa AA A1 Az A:c AA A1 Az A:c AA
A4VSO 40 |227| 61 |227(557|254| 62 |227|585(310| 37 |227 |616|318| 53 |227 |640|380| 51 |227 700
A4VSO71 | — | — | — | — |254]| 62 |254|614(310| 63 |254 |671|318| 79 |254|695|380| 51 |254|729
Nominal size 40 71 125 | 180 | 250 | 300 | 355 | 370 | 500 A4vSO125| — | — | — | — | — | — | — | — |310| 69 [310|734|318| 85|310|758|380| 89 [310 (824
P rmertia | Tme. | NM | 1800 | 2000 | 4200 | 4200 | 9300 | 9300 | 9300 | 9300 | 15600 aavsotso| — [ — [ == =1=[—=1=]—=1—=1—1[— [318] 85 318[782|380] 89 318848
Perm. momentof avso2so| — | — | —| = |—=|—=|—=|=|—=|=|=|—=|—=|—|—|— |380| 89 |380|908
e endotamiel T, | Nm | 180 | 200 | 420 | 420 | 930 | 930 | 930 | 930 | 1560
10g298.1m/sec’
Weight (DR) m kg 39 53 88 | 102 | 184 | 207 | 207 | 207 | 320
Distaneel ety [ mm | 120 | 140 | 170 | 180 | 210 | 220 | 220 | 220 | 230
Mainpump | A4VSO 300 A4VSO 355 A4VSO 370 A4VSO 500
2nd pump A1 Az Az AA A1 Az A:c AA A1 Az A:c AA A1 Az Aa A«

A4VSO 40 |393| 67 |227|729|393| 67 |227|729|393| 67 |227|729|441| 64 | 227|774
A4VSO 71 |393| 67 |254|758|393| 67 |254|758393| 67 |254|758|441| 64 | 254|803
A4VSO 125|393 105|310 (853|393 |105|310|853|393|105|310|853|441| 64 | 310|860
A4VSO 180|393 (105|318 (877|393 (105|318 |877[393| 105|318|877|441| 64 | 318|884
A4VSO 250 | 393 (105|380 | 937|393 | 105|380 937 |393| 105|380|937|441| 100|380 | 980
A4VSO 355 | 393 (105|393 | 966 | 393 | 105|393 | 966 | 393 | 105|393 | 966|441 | 100|393 (1009
A4VSO500| — | — | — | — | — | — | — | — | — | — | — | — |441]|149]|441|1110




Elephant Fluid Power

ELEPHANT FLUID POWER

EFP-A4VSO + EFP-A10VSO

o
@

Unit dimensions of combination pumps

1|

Al A2 A3
A4

Mainpump [ A4VSO 40 A4VSO 71 A4VSO 125 A4VSO 180 A4VSO 250
AR Alalalalalalalalalalalalalalalalalala]A
A10VSO 18 | 227| 36 |145|458|254 | 37 [145]486(310| 37 |145|542(318| 53 |145|566|380( 51 | 145|626
A10VSO 28 | 227| 63 [ 164|496 |254 | 37 [164[497|310| 37 |164|553|318| 53 |164|577|380| 51 | 164|637
A10VSO 45 | 227| 63 | 184|514 |254 | 57 [184|535(310| 57 |184|591|318| 73 | 184|615|380| 51 | 184|655
A1OVSO 71| — | — | — | — [254] 67 |217|578|310| 68 217|635 |318| 84 [217(659|380| 69 217|706
A10VS0100| — | — | — | — | = | = | = | — |310|74.5|275|7105|318(90.5| 275 |7345| 380 | 77 | 275|783
Atovsot4o| — | — [ — | = = | =| = =] —=1| =] —=|— [318] * |275| * [380] 89 |275|806

Mainpump | A4VSO 300 A4VSO 355 A4VSO 370 A4VSO 500
A AlTAaTATA[ATATATATATA[ATATATATATA
A10VSO 18 |393| 67 |145|655|393| 67 |145|655|393| 67 | 145|655 441| 64 | 145|700
A10VSO 28 |393 | 67 |164|666|393| 67 |164|666(393| 67 |164|666|441| 64 | 164|711
A10VSO 45 |393 | 67 |184(684|393| 67 |184|684|393| 67 | 184|684 | 441| 64 | 184|729
A10VSO 71 |393| 85 |217|735(393| 85 |217|735|393| 85 [217(735| 441| 64 |217|762
A10VSO 100|393 | 93 |275|812|393| 93 |275|812|393| 93 |275|812| 441| 90 | 275|857
A10VSO 140|393 [105 | 275|835(393 | 105 | 275 | 835|393 | 105 | 275 | 835 | 441 89 | 275|867

* as required

TEL:+86(311)68123061

www.heavyequipmentmaintain.com

Dimensions through drive

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

ISO 125,4-hole; %
for mounting a
EFP-A4vSO/G 40 (splined shaft) A5
Ordering code K31 A
e !
© 1 1
< | |
1 W '
oA s
] pume| A | A | A A A, A, | spiine shaft DIN 5480/SAE
40 [189] 99 | — |58 [M12x24| — | Neoxi2exisxeH
71 216|100 | — | 55 [M12X24| — | JCOx! 202t
125 |265| 82 | 8 | 37 |M12X18| 150 | Nox1.20x26xeH
180 | 265|106 | — | 37 |M12X18| 160 | Nooxi-20x20xEH
250 | 327|104 | 2 | 48 |M12X18| 200 | Ni2xi2oxa2xaH
300 (327|133 | — | 48 |M12X18| 220 | Ni2xT.2ex32x6H
355 | 327|133 | — | 48 [M12x18| 220 | Ni2x25x32xeH
370 | 327|133 | — | 48 [M12x18| 220 | Ni2x120xa2xeH
500 | 365 | 140 | 14 | 60 |M12X18| 240 | NoSx1-20xi2xeH

EFP-A4VSO

N32X2X14X8H

Al

10

A2

A3

to face of pump
mounting flange

ISO 140, 4-hole;
for mounting a

EFP-A4VSO/G 71 (splined shaft)

Ordering code K33

fa-:ﬁ‘ sump A | A A A A, Aq | spline shaft DIN 5480/SAE
71 |216]100] — | 44 |Mi2x24| — | NaOXTZoxeaxcH
125 |265(108| — | 45 [M12X25) — | 0o 2metsoH
180 |265[132| — | 45 [M12x18| — | )i 2exeoxeH
250 |327|104| 2 | 48 [M12X18| 200 | i1 2oaasH
300 |327(133| — | 48 |M12X18| 220 | Ni2x120x32xEH
355 |327(133| — | 48 |[M12X18| 220 | Ni2x120x32xEH
370 |327[133| — | 48 |M12X18| 220 | Ni2x120x32xEH
500 |365|140(15| 60 [M12X18| 240 | NoSxi2sxdzxe

12
N40X2X18X8H
DIN 5480

+0.07

140 +0.02,

Al

10

A2

A3

to face of pump
mounting flange



:+86(311)6812306 :+86(10)-80. -5688:
ELEPHANT FLU I D POWER \I/\E/I\_N.Jrhea(vyleléuiplmentriaimain.com FEﬁ)n(;I:elgpganlggflfjims.wé[l EFP_A4VSO

Elephant Fluid Power

1ISO 160, 4-hole; A3 ISO 224, 4-hole;
for mounting a _ for mounting a
EFP-A4VSO/G 125 or 180 (splined shaft) 12 EFP-A4VSO/G 355 (splined shaft) Iz
Ordering code K34 N50X2X24X8H Ordering code K77 <
A4
Al
to face of pump
A1 mounting flange
5o to face_ofpump
R EED A | A | A A, Spline shaft DIN 5480/SAE | mounting flange a‘:ﬁ. s A A A A, ——
125 | 265[114| 58 | M16X31| |hoox125x26x8H
/N50x2x24x8H 355 | 327 | 171 82 |M20X24| N42x1.25x32x8H
180 | 265(138| 53 | M16X32 | \35x(.25x26xBH IN70x3x22x8H
/N50x2x24x8H N42x1.25x32x8H
370 | 327 | 171| 82 |M20X24| o o oar
250 | 327|142| 60 [M16X 32| |i2x!.25x52x8H
/N50x2x24x8H N55x1.25x42x8H
N42x1.25x32x8H 500 365 | 176 | 76 | M20X24 /N70x3x22x8H
300 | 327|171| 60 [M16X 32| 50, oxoaxaH
355 | 327/171| 60 [M16X 32| |h2x!25x32xEH
370 | 327/171| 60 [M16X 32| JMi2x!25x32xEH
N55x1.25x42x8H 1SO 315, 8-hole;
500 | 365(140| 60 |[M16X 24| (o0 5 oavar for mounting a
EFP-A4VSO/G 500 (spline shaft)
Ordering code K43
ISO 224, 4-hole;
for mounting a A3
EFP-A4VSOI/G 250 (splined shaft) A3 s 53.5
Ordering code K35 '
NBOX2X28X8H NBOX3X25X8H
U)°'o.
g M 2 \‘
EE @) i
\ N
M \ /
19
Al A2
to face_of pump
Al A mounting flange
_ to face of pump
e oump| A1 | A | A, A, |spline shaft DIN 5480/SAE | mounting flange = AT A A "
ize )
N42x1.25x32x8H Mai 1 > s Spline shaft DIN 5480/SAE
290|927 142} 75 MBOX 7] _msourzmrs 500 | 965 | 225 | o1 |M2oxze| T Znen
300 | 327 [171| 75 | M20X36 | |yiax! 25x52xEH IN80x3x25x8H

355 | 327 |171| 75 |M2ox3e | N2xi2sx2uaH
370 | 327 [171| 75 | M20X36 | Ni2x1.20x32xGH
500 365 | 176 74 |M20X 36 ;\INSA’:':rz(1.25x42X8H

1




8 :+86(10)-80. -5688:
ELEPHANT FLU I D POWER \I/\E/I\_N.Jrliea(\?yleléﬁ?plngcn)ﬁiainlain.com FEﬁ)n(;I:elgpganlggflfjims.mé[l EFP_A4VSO

Elephant Fluid Power

ISO 80, 2-hole ; for mounting o

for mounting a . A4 EFP-A10VSO 45 (splined shaft S)
EFP-A10VSO 18 (splined shaft s) 45° Ordering code KB4

Ordering code KB2

[ Splined 19-4 (SAE A-B)
3/4" 16/32DP;11T

1
A1 A2 | A3
to face of pump
mounting flange
wampump| A | A | A | A | A As_| Spline shait DIN 5480/SAE Size AlAala A A A, | A, | spiine shaft DIN 5480/SAE
125 | 265 | 82 | 11.5| 19.1|M10x18]21.4| N35x125x26x8H mempumet S - .
- . L 2410920P T 125 |265|82| 8 | 36 |[M12x22| 150 |20.9| N35X1.25x26x8H
180 265 |106| 11.5| 19.1 |M10x18|21.4 N35x1.25x26x8H - /1",16/32DP;15T
3 " - /3/4",16/32DP;11T 180 265 [106| — 36 |M12x22| 160 | 20.9 N35x1.25x26x8H
250 | 327 [104]11.5 | 19.1 |M10X18[21.4 |  N42x1.20x32x8H | [ 16/32DR 5T
- Ll o 1eebPAIT 250 | 327 [104| 3 |27.5|M12x18| 200 |20.9| N42xI 25328
300 |327 [104| 3 |27.5|M12X18| 220 [20.9| NiALIREAEH
1SO 100, 2-hole ;
for mounting a A4
: . A6 1SO 125, 2-hole;
- 4 2 , )
(E)de Alovsdo fBgSp“nEd shaft S) < Splined 22-4 (SAE B) for mounting a
rdering code 7/8" 16/32DP 13T EFP-A10VSO 71 (splined shaft S) A3 A5
AS ’ ' Ordering code KB5
Splined 32-4 (SAE C)
| [ Ad 11/4" 12/24DP;14T
3|
b
o
A1 A2 | A3 T
to face of pump |
mounting flange 10
e e AL | A | A | A A, A, | spline shaft DIN 5480/SAE o /j:pump A2
O Tace
40 | 189 |101| — | 37 |M12X26|20.3| [oxiEinel mounting flange
71| 216 [102] — | 34 [M12X26|20.3| |ooiaisomiar _
ize "
125 |265(84| — | 26 [M12x22|20.3| NSxIZoe6xEH mampump | Ai | Ae | A | A As Seine st DN 405A
180 | 265 |108| — | 26 [M12X22|20.3| oo iZauel 125 | 265 |113| 38.1|M16X24|23.7 33;,)(41.‘,21:;22‘;3;:4T
250 | 327 [106| — | 27 |M12X20(20.3| 2| Zoseeh. 180 | 265 |137) 38.1|M16X24| 23.7 g;;;;g/xz;zz;mr
300 | 327 [135| — | 27 |M12X20(20.3 | ui2X|ZxacxEh 250 [327 |141] 42 |M16X24] 23.7 ;\“1412?1251234225H14T
355 | 327 [135| — | 27 |M12X20|20.3| |aXiZaemen. 300 [327 |170] 42 |M16X24|23.7| i 44" 2/24DP:14T
370 [ 327 [135| — | 39 |M12X20(20.3| | ZoamE.




E LE P HANT F LU I D POWE R TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP_A4VSO

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Elephant Fluid Power

AL 103
:fromlffr{nféh:le; 3 Flange SAE 82-2(SAEA, 2-hole) ; b1065 Splined 5/8"
EFP-A10VSO 100(splined shaft S) AS ;%rm&ﬂggrgeaaﬁeﬁﬁmf |Pg§;é5%? G2 or 16/32DP:9T
Ordering code KB6 Splined 38-4 (SAE C-C) P OOOR s P
Ad 11/2",12/24DPA7T Ordering code K01
. |
<
5 (I
10
‘ A1 A2 | A3
10 vempume| A | Ao | Ay [ A| A | A, | Spline shaft DIN 5480/SAE
Al Az 40 [189] 74 | — | 40 [M10X15[ 130 | ioi2oomnc
to face of pump
mounting flange 71 216 | 75 2 | 37 |[M10X15| 140 gﬁgﬂ;ﬁfggﬁg}—%
125 | 265 | 82 | 8 | 39 |M10X20| 150 | oo oamomar
a':ﬁ‘p“mp A A | A | A A, | Spline shaft DIN 5480/SAE 180 | 265|106 | — | 28 |[M10X15| — ;\15?;‘)(11'62/?3)(2%%2—':'
N35x1.25x26x8H
125 | 265 |114| 58 |M16X26|23.7 | oo areanp izt 250 | 327|104 | 3 | 50 [M10X15| 200 | 2| 2aaecn
180 | 265 [138| 58 |M16X26|23.7 | )\ it iorammonisT 300 |327[133 | — | 50 [M10X15| 220 | Iazxi2o@2er
N42x1.25x32x8H N42x1.25x32x8H
250 | 327 |142| 62 |M16X26|23.7 | 10 2nanpa7T 355 | 327 | 133 | — | 50 |M10X15| 220 | jo/a(aaonpiar
N42x1.25x32x8H
300 | 327 [171| 62 |M16X26(23.7| N2dl20aadn 870 | 327|133 | — | 50 |[M10X15 220 | jgisgisonmior
500 | 365|140 | 12| 62 |[M10X15| — | |oaxiZaasss
;SO 180’t_ 4-hole; Flange SAE 82-2 (SAE A,2-hole) ;
Or mounting a ) for mounting a
EFP-A10vSO 140 (splined shaft S) A3 EFP-A10VSO 18 shaft S A4 10.3
i 4 . 0.3
Ordering code KB7 Splined 44-4 (SAE D) Ordering code K52 $106.5 AS Splined 3/4";
13/4".8/16DP;13T 16/32DP; 11T
G
: E g ]
3| A5
y
Al A2 — b140 10
to face of pump A1 A2 | A3
mounting flange

Si a tof f

wemoume| A | A | A| A A, A, | Spline shaft DIN 5480/SAE goaucneﬁ‘;gﬂll‘:;ge
40 | 189 | 74 | — | 40 [M10X15(130| Juoi&asmagit
f“:,‘;pmp A | A | A A, A, | sSpline shaft DIN 5480/SAE 71 216| 75 | 2 | 37 |[M10X15| 140 ,“3?3*153‘22023%
N42x1.25x32x8H 125 |265| 82 | 8 | 39 |M10X20{ 150 | Jaerieasmmtt
250 327 | 142| 82 |M16X32|10.8 A 3/4% 8/16DP:13T ﬁa/:xg:fz%z;ﬁ
300 | 327 [171| 82 |M16X32[10.8 | Né2ul2oxd2xeH 180 | 265|106 | — | 28 |M10X15)200| /g 1e/s20p;1it
Na2x1 26x32xBH 250 (327|104 | 3 | 50 [M10X15| — | |y2xi2ocoue
355 | 327 |171| 82 |M16X32| 10.8 | |5 ieantsr s Toor 1o <o Tmoxiel 220 [o/4" 16/320P (17
— /3/4" 16/32DP;11T
355 | 327|133 | — | 50 |M10X15[220 | |yaXiZaeassn.
370 |327 133 | — | 50 [M10X15|220| |y Eamsn .
500 | 365|140 | 12| 62 [M10X15| — | R Zaamst.




Elephant Fluid Power

Flange SAE 101-2 (SAE B, 2-hole) ;
for mounting an external gear pump G3
Ordering code K02

ELEPHANT FLUID POWER

146

10.3

Splined 7/8"
16/32DP;13T

10
f,":i’npump A | A |A| A A, A, | Spline shaft DIN 5480/SAE A1 A2 | A3
N25x1.25x18x8H
40| 189|101 | — | 64 | M12X26| — | mi"toisppitar | ‘mece ot
71 | 216|106 | — | 64 | M12X30 | — | o 2aeet
125 | 265| 82 | 8 | 39 | M12X15 | 150 | oo 2osamgar
180 | 265 106 | — | 39 | M12X15 | 160 | o ieasopiar
250 | 327|104 | 3 | 50 | M12X18 | 200 | |yiaX|Eosxet
300 |327|133|—| 50 | M12X18 | 220 | |iaXiZaesexen.
355 | 327|133 | — | 50 | M12X18 | 220 | |yiaXioaseexdn.
370 |327|133 | —| 50 | M12X18 [ 220 | R Zaiien
500 | 365|140 | — | 62 | M12X18| 240 | poXiEiaxst.
Flange SAE 101-2 (SAE B, 2-hole)
for mounting a EFP-A10VO 45 shaft S or a
gear pump 1PF2GC4-1X/0XXXRO7MU2 , A Splined 1"
Ordering code K04 B 16/32DP;15T
'
1S
3 5
+02 A4

$146 02

Sinpms| A [AJA] A

Main pump

Spline shaft DIN 5480/SAE

125 347| 9 |48.4| M12X15

N35x1.25x26x8H
/1" 16/32DP;15T

180 | 371| 9 |48.4| M12X18

N35x1.25x26x8H
/1" 16/32DP;15T

250 | 431[10.4 61 | M12X18

N42x1.25x32x8H
/1" 16/32DP;15T

300 | 460 [10.452.4| M12X18

N42x1.25x32x8H
/1" 16/32DP;15T

355 | 460 |10.4/52.4| M12X18

N42x1.25x32x8H
/1" 16/32DP;15T

to face of pump
mounting flange

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

Flange SAE 101-2 (SAE B, 2-hole)
for mounting an internal gear pump
1PF2GC5-1X/0XXXR07MU2,
Ordering code K06

N AS

146

Spline shaft DIN 5480/SAE

N30x1.25x22x8H
/1 1/4"12/24DP;14T
N35x1.25x26x8H
/1.1/4" 12/24DP;14T
N35x1.25x26x8H
/1 1/4" 12/24DP;14T
N42x1.25x32x8H
/1 1/4" 12/24DP;14T

Memoume| A | A | A A
71 321 (10.5/59.5| M12X18
125 |378| 9 | 57 | M12X18
180 |402(10.4| 57 | M12X18
250 |436(10.4] 60 | M12X18

EFP-A4VSO

Splined 1 1/4"
12/24DP;14T

+0.05

$101.6 +0.02

to face of pump

mounting flange

Flange SAE 127-2 (SAE C,2-hole)

for mounting a EFP-A10VO 100 shaft S or an
internal gear pump 1PF2GC6-1X/XXXXR07MU2
Ordering code K24

Wampum| A2 | A | A A

125 |377| 9 | 74 | M16X24
180 |401| 10 | 72 | M16X24
250 |451(10.5[ 76 | M16X 20

Spline shaft DIN 5480/SAE
N35x1.25x26x8H
/1 1/2"12/24DP;17T
N35x1.25x26x8H
/1 1/2" 12/24DP;17T

N42x1.25x32x8H
/1 1/2"12/24DP;17T

SectionA-B

Ad

A3
Splined 1 1/2"
12/24DPATT

0w N
70 Q<
0 SRR ??
11 ! N
| {1 o
AN o
'I///,,

>

A2

to face of pump

mounting flange



E LE P HANT F LU I D POWE R TEL:+86(311)68123061 FAX:+86(10)-80115555-568844 EFP_A4VSO

www.heavyequipmentmaintain.com E-mail:elephant@sjzhjsm.com

Elephant Fluid Power

@ 63 metric, 4-hole; SectionA-B With through drive shaft, without hub or adapter flange, closed with cover plate
for mounting a radial piston pump R4, Ordering code K99
Ordering code K57 50 Nominal size 40~370
8js8 | A3
— U Section M-N
N 10
’\ oo
Al7
/ \® 4;) i M8 M —
& d e A16
3 I 3 A7 | A7 A10
4 ); ° A8 A1l
37 A2 4XA5
1
b25H7 s < 3,
e ERNEEEE
Al A2 g < < < <
Size : to face of pump
Main pump A‘ Az A3 SP'I::SS:]GZZ: ?LNB?BO mounting flange : ’
X1, X Xi
40 189 100 61 keyed shaft @25 \ =
N30x1.25x22x8H ;
n 216 103 56 keyed shaft @25 A8 5,'@?2':?1°°"esp°"ds
125 265 | 110 62 Py . Splined shaft profile | A3
180 265 134 62 e \ DIN 5480 see table A9
N42x1.25x32x8H “with EFP-A4VSO 40 and 71 LR.D,LR.S, i
250 327 132 78 keyed shaft @25 LR.G only a R4-3 piston pump A1 toface of pump mounting flange
SectionA-B
Flange SAE 101-2 (SAE B,2-hole) ; S
A5 A4 Main pump Splined shaft profile DIN 5480 ;':ﬁ‘pump 0O-ring(not included within the scope of supply)
for mounting an external gear pump 40 W25 x 1.25 x 18 x 9g 20 09x3.78 SHA
G4 or a EFP-A10VO 28 splined shaft S 71 W30 x 1.25 x 22 x 9g 71 PRP 245 7509
% 125 W35 x 1.25 x 26 x 99 125
Ordering code K68 N 119x3.78 SHA
o 180 W35 x 1.25 x 26 x 99 180 119x3.78 SHA
/? ?o 250 W42 x 1.25 x 32 x 99 250 162x3.78 SHA
s 300 W42 x 1.25 x 32 x 99 300 162x3.78 SHA
] 355 W42 x 1.25 x 32 x 99 355 162x3.78 SHA
370 W42 x 1.25 x 32 x 99 370 162x3.78 SHA
vempume| A | A | A | A, A, Spline shaft DIN 5480/SAE Al wain Eumgl AfAlA] A As A | A [ A A A A A | A A | Ao [ As|An
40 290 [10.3] 10 | 47 | M12x26 g?gfléz/gzbas;ﬁg_r t%Laucrﬁi?];pr;:Ze 40 263 | 10 | 7.5 |51.3s1| M12x 25 | 37202 | 37202 | 0 | 18| 9 |23.0:(F118|D105,(D97.6,,,| @52 | 44 | 14
N30KT.25x22x8H 71 |291[10| 7.5 | 48:1 | M12x25 | 42.3 |45:015|15405 18 | 9 |27-u:| @130 |@116,,|@106.4.,| @63 | 38 | 16
71 [322[10.3( 10 | 62 | M12X26 | NIoX125xEix8H
35T 25:268 125 |347| 12| 8.5 |49.7:1| M14x30 |47:015|47:015| O | 18| 8.5 |23.0:| @137 | @124, | B116,,, | @70 | 46 | 22
125 [355| 10 | 9 | 49 | Mi12X15 | oo ZoxBoxeH
L 180 | 371| 12| 8.5 [49.7:1| M14 x 30 |47:015|47:015| O | 18 | 8.5 |2.3.01| @137 | D124, | @116, | B70 | 46 | 25
180 | 371(10.3| 10 | 49 | M12X18 | N3ex1:25x26xEH
. /7/8" 16/32DP;13T 250 | 431| 15| 12 |61.4x1| M20x 40 |63:015(63:015| O |26 | 9 |2.3-0:| F180| D165, | F157,, | D88 | 64 |30.5
250 [431| 11 | 10 | 47 | M12X26 |  ]Ni2x.25x32xEH
/7/8" 16/32DP;13T 300 |460| 15| 12 |61.4+1| M20x 40 |63:0.15(63:015| O |26| 9 |[23.0:( D180 |D165,( @157, | @88 | 64 | 34
300 |462[10.3| 10 | 47 | M12X26 | |aXiZasedn. 355 |460| 15| 12 | 61.4x1| M20x 40 |63:015|63:015| 0 | 26| 9 |23.01| @180 | @165, | @157, | @88 | 64 | 34
355 |462[10.3| 10 | 47 | M12X26 | aXioasemdt. 370 [ 460 (15| 12 [61.4s1| M20x 40 [63:015(63:015| O |26| 9 |23.0,( @180 | @165, | @157, | @88 | 64 | 34
500 |505(10.3| 10 | 78 | M12X26 | e 2sBet.




ELEPHANT FLUID POWER

With through drive shaft, without hub or adapter flange, closed with cover plate

Ordering code K99
Nominal size 500

Shown without cover

+0.2
112 02

+0.2
7202

+0.2
OG——l

100 -02

SectionM-N

0O-ring 165x3.78 SHA
included within the
scope of supply

OO

$169 04

+02
100-02
50 +ﬂaz 60+022
() &
O
@
o§5\

M20X24

+0.9
0.7-02 +0.4
“02 |£0.7:02
88 0.2

r—e

.

W55X1.256X42X9g
DIN 5480

I

41

505 to face of pump mounting flange

520 to face of pump mounting flange

Type list (short delivery times), in case of an order please state type and part no.

Type
EFP-A4VSO40DFR/10X-PPB13N00

EFP-A4VSO40DR/10X-PPB13N00
EFP-A4VSO40DRG/10X-PPB13N00
EFP-A4VSO40LR2/10R-PPB13N00
EFP-A4VSO40LR2G/10R-PPB13N00

EFP-A4VSO71DFR/10X-PPB13N00
EFP-A4VSO71DR/10X-PPB13N0O0O
EFP-A4VSO71DRG/10X-PPB13N00
EFP-A4VSO71LR2/10R-PPB13N00
EFP-A4VSO71LR2G/10R-PPB13N00

EFP-A4VSO125DFR/30R-PPB13N00
EFP-A4VS0125DR/30R-PPB13N00
EFP-A4VSO125DR/30R-VPB13N00
EFP-A4VS0125LR2/30R-PPB13N00
EFP-A4VS0125LR2G/30R-PPB13N00
EFP-A4VSO125LR2N/30R-PPB13N00

Type

EFP-A4VSO180DFR/30R-PPB13N00

EFP-A4VS0O180DR/30R-PPB13N00

EFP-A4VSO180DRG/30R-PPB13N00

EFP-A4VS0180LR2/30R-PPB13N00

EFP-A4VSO180LR2G/30R-PPB13N00

EFP-A4VSO180LR2N/30R-PPB13N00

EFP-A4VSO250DFR/30R-PPB13N00

EFP-A4VSO250DR/30R-PPB13N00

EFP-A4VS0250DRG/30R-PPB13N00

EFP-A4VS0O250LR2/30R-PPB13N00

EFP-A4VS0O250LR2G/30R-PPB13N00

EFP-A4VSO250LR2N/30R-PPB13N00

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

EFP pump adjustment

Adjust the maximum displacement DRG

Adjust the minimum displacement

Determination of displacement

El q :Lf N [L/min]
oW T o000
1,59 - V, - AP
Drive torque T= E [Nm]
100- 1,

Drive power p= 2. 1"z T:n _ 4. 5P

60000 9549  600-1), Lwd

After-sale service & stock

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

EFP-A4VSO

Adjust the control pressure 20bar

Adjust the variable response time

V,=(Displacement) [cm’]

AP= (Pressure differential) [bar]
n=(Speed)[r/min]

n,=(Volumetric efficiency)

nN.= (Mechanical/hydraulic efficiency)

n= (Overall efficiency) (nz=n,n,,)

Supply quality spare parts (imported &domestic) for EFP-A4VSO pump, hydraulic pump

maintenance, test;

Hydraulic machine, upgrading for hydraulic system and used equipment, constant
displacement pump upgrading for variable pump EFP-A4VSO,energy saving upgrading.

e
- = - B



B R ELEPHANT FLUID POWER

EFP-A4VSO pump coupling assembling and hoist

Important!
How to install the coupling on pump shaft?

Shaft coupler installation: sink the pump shaft coupler in the hot oil with temperature <90 C about
40 minutes, assemble the shaft and the coupler and cool it with cooling water rapidly, fasten the
screw and cushion rubber at last. Never knock the principal axis in assembling.

3 correct installation methods of EFP-A4VSO pump
Never hoist or transport the oil pump via the principal axis; never knock the
principal axis in assembling.

1.Hoist the pump via the ends of the bolts 2.Hoist via cross holes of flange by double-hook 3.Lift the end cover by the forklift

TEL:+86(311)68123061
www.heavyequipmentmaintain.com

FAX:+86(10)-80115555-568844
E-mail:elephant@sjzhjsm.com

EFP-A4VSO



	页 1

